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&S X 4 B | TiEhoDER ﬁwxéjé & 4 TIHRMSDKE| F& 730)7(%3 R 4 B | tEhSOLE jja)xé:ré X 4 HEhronhE | B ﬁa)jcéjé
(m) (m) (kN/m) BERfE(m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/mi)
1 100kN/mi%#82.% 1.00/0.00 ~ 1.77 127.13| 3m%E{BZ5 ol ~ = = —| 100kN/mM%#8% % 1.00| 10.77 ~ 18.00 127.13| 3m%E#BA 5 ol ~ = = =
zhst 1.00] 1.77 ~ 9.55 100.00] Z=hbLlst | 0.00 ~ 9.55| 2.26 11.87 zhnLst 1.00|] 5.00 ~ 10.77 100.00] #hrist | 5.00 ~ 18.00| 2.26 11.87
2 100kN/mM%E#8 % % 1.000.00 ~ 237 137.07| 3m%E#E %25 ol ~ = - —| 100kN/m%i#8 x5 1.00| 10.53 ~ 20.34 137.07| 3m%E{BZ % = kad - - =
zhusn 1.00] 2.37 ~ 10.16 100.00] Zhilst [0.00 ~ 10.16] 2.72 14.28 ThLst 1.00] 5.00 ~ 10.53 100.00] Zhuist | 5.00 ~ 20.34| 2.72 14.28
3 100kN/mM%#B% % 1.00|0.00 ~ 259 140.75(3m& 25| - ~ = - —| 100kN/Mi%#8% % 1.00]| 10.83 ~ 26.07 140.75| 3m%8 2% -~ = = =
Fh st 1.00]2.59 ~ 10.38 100.00| #h 4t [0.00 ~ 10.38] 2.89 15.17 Fh st 1.00] 5.00 ~ 10.83 100.00] #=h 4t | 500 ~ 26.07| 2.89 15.17
4 100kN/mi%#82 % 1.00/0.00 ~ 2.84 144.87|3mE#BZD| - ~ = = —| 100kN/M%#8% % 1.00| 10.78 ~ 29.42 144.87|3mZEBA 5 o ~ = = =
Zzhilst 1.00]| 2.84 ~ 10.62 100.00] Z=hilst [ 0.00 ~ 10.62| 291 15.24 zhst 1.00] 5.00 ~ 10.78 100.00] Zhilst | 5.00 ~ 29.42| 2091 15.24
s 100kN/ Mm% % % -l -~ = -|3mZzi#EZB| - ~ = - —| 100kN/mM%E#BZ % = -~ = -|3m%E#BZ S -~ = = =
zhst 1.00/0.00 ~ 5.36 66.85| Tn st 1000 ~ 536| 1.59 8.31 st 1.00] 5.00 ~ 6.20 66.85| ThLs | 500 ~ 6.20| 1.59 8.31
6 100kN/m##2 2% -l -~ = —-|3mZEBZDH| - ~ = = —| 100kN/m%Z#8% % = -~ = -|3m%EBAD -~ = = =
ZFh st 1.00]0.00 ~ 4.77 59.51| #hlist [0.00 ~ 4.77] 2.00 10.48 Fhn st 1.00] 5.00 ~ 573 59.51| #nhllst | 500 ~ 5.73] 2.00 10.48
7 100kN/m%#8 2% -l -~ - -|3mZEBZS| - ~ = = —| 100kN/M%Z#B% % = -~ - -|3m%EBZ5 o ~ = = =
zhilst 1.00/ 0.00 ~ 5.82 72.87| Thus 000 ~ 582 1.65 8.65 Thst 1.00] 5.00 ~ 6.69 72.87| Thus | 500 ~ 6.69] 1.65 8.65
8 100kN/mi%#8% % -l -~ - —-|3mZEBZB| - ~ = = —| 100kN/mMi%#8% % = -~ - -|3m%EBZ S =~ = = =
ZFh s 1.00|0.00 ~ 597 74.83| ThLs 000 ~ 597 1.82 9.52 zhst 1.00] 5.00 ~ 6.87 74.83] Thus | 500 ~ 6.87| 1.82 9.52
) 100kN/m%#2 2% -l -~ = —-|3mZEBZS| - ~ = - —| 100kN/mM%#B 2% = -~ = -|3m%EiBZS -~ = = =
Fh st 1.00{0.00 ~ 6.35 79.80| #h 4t |0.00 ~ 6.35] 1.70 8.91 Fh st 1.00] 5.00 ~ 7.48 79.80] #n st | 500 ~ 7.48| 1.70 8.91
100kN/ Mm% 2% ~ ImEERD ~ 100kN/ Mm% 2% ~ 3ImEBRD ~
ZhLsh ~ Zhlsh ~ ZhLLsh ~ Zh st ~
100kN/mi%#8 2% ~ ImEEZD ~ 100kN/mM##8 % % ~ ImEEBZD ~
zhlst ~ ThLs ~ st ~ zhilst ~
100kN/ Mm% B2 % ~ ImEHBA D ~ 100kN/mM%BZ 5 ~ ImEBRD ~
Zhsn ~ Zhst ~ ZFhLlst ~ ZhList ~
100kN/m%#8 2% ~ ImEHERD ~ 100kN/m% 82 % ~ 3mEBRD ~
ZH LIS ~ Zh st ~ ZHLLS ~ Zh Lot ~
100kN/mi%#82.% ~ ImEREZRD ~ 100kN/mM#E#BZ % ~ ImEEZD ~
Zh LSt ~ Zh st ~ ZhLIst ~ Zh st ~
100kN/ Mm%z 5% ~ 3mEHBA D ~ 100kN/m%EBZ 5 ~ 3ImEBZ D ~
zhist ~ Zhs ~ st ~ ZThilst ~




